Summer Assignment

Math Course 2
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I. Solve each proportion using equivalent frachons:

1 24 6
44 11 7
5 100 -
6 9 81

2_ Jenny made 5120 for 8 hours of work. How much
would Jenny make for 40 hours of work? Use a

proportion to show your work in the space provided.
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3. Solve each division problem (reduce if possible):

4 |
5 2
1 5
3 6

4. Shondra is making some cakes. She has */; cup of
milk left in the carton. Each cake requires '/ cup of
milk. How many s CUpSs are in Iy cup? Show your
work m the space provided.
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5. Rewnte each expression in exponential form. Then
solve each expression

4x4x4= =

Ixlxlxlxlxlxl= =

6. Jerome had this problem on his math test-
3
6
His answer was 18.

Did Jerome solve this problem comectly? If not,
what should he have done differently?
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7. Find the area of each tnangle:

Y

&. Mickey wants to create a garden in his back yard.
He has a tnangular area shown below. How many
square feet does Mickey have to plant his garden?
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9. Find the median and range for the set of data:

55, 85, 63,90, 64, 55, 63, 52, 55, 78, 90

Median:

Range:

10. Josie thinks that because she has rwo pets, that
the average number of pets each of her classmates
has 1s also rwo. Is this a good statishical descniption
of the number of pets each student has? What should
she do mstead?
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1. Find the ratio of:

2. Sampson made a table to show how much yam he

=
T * O * D‘ O A would need to make some bracelets.

a
g ‘ ‘ -* ‘ * O A Numberofbmcclets| 3 | 5 L0121 15
E stars to squares tnangles to circles Yamucoded (mmches) | 15 1301 7 | 721 90
El
Z |circles to total squares to tnangles How much yam does Sampson need to make one
;‘ bracelet?
2 |total to stars circles to NOT circles What number is missing from the table?
- 3. Divide using the standard algonthm. 4. Jameson bought movie tickets for himself and us
:Ir. fniends and paid $105. If he bought 7 tickets, how
LB f }_521 12 }_I 140 much did each ticket cost? Use the space below to
= show your work.
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5. Identify each vanable.

6. There are 5 more peach trees than apple trees on

prandpa’s farm. If there are 7 peach trees, how many

m 5+r=17 mx9=T2 apple trees are there?
g Write an algebraic equation and solve. Use a to
i stand for the number of apple trees.
z r=_ m=
E y+x=20;x=6 b-15=aa=17 Bt
-3 i
e a=
= = b=

7. How many units Y g Plot each of the ¥

40 41 47 40 - 45 46 47 4F 40 N8 F? SR M ORR S 5T SRS &

How many weeks did she exercise for 6 hours?

long is this rectangle? ,, points on the wl

s o ’ coordinate gnd. =
i‘ i After each point, »
& |How many units wide : draw a lne to :
g is this rectangle? 3 connect it to the 3
& *| e D previous point. .
3 3 3.3)L(5.1). .

' 9.5,(7.7) 1
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w |9. Label the dot plot with the following data: 10. Lindsay made a dot plot of the amouwnt of howrs
-|: she exercised each week.
g— 51, 55, 48, 48 55, 60, 53, 45, 48, 50, 51, 51, 53,43 [ Hours Exercising per Week |
g .o
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